Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

 Bid Open Date:
 7/12/2017

 Page 1 of 15



				ENGINEER'S ESTIMATE		SUKUT CONSTRUCTION	N, LLC	MAMCO, INC. dba ALABBASI	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$450,000.00	\$450,000.00	\$925,000.00	\$925,000.00	\$624,691.90	\$624,691.90
2	WATER CONTROL	L.S.	1	\$30,000.00	\$30,000.00	\$200,000.00	\$200,000.00	\$115,000.00	\$115,000.00
3	TRAFFIC CONTROL	L.S.	1	\$100,000.00	\$100,000.00	\$133,000.00	\$133,000.00	\$75,000.00	\$75,000.00
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$150,000.00	\$150,000.00	\$485,000.00	\$485,000.00	\$500,000.00	\$500,000.00
5	WORK EXCAVATION	C.Y.	93000	\$10.00	\$930,000.00	\$6.85	\$637,050.00	\$8.00	\$744,000.00
6	ASPHALT CONCRETE EXCAVATION	C.Y.	515	\$80.00	\$41,200.00	\$60.00	\$30,900.00	\$35.00	\$18,025.00
7	BACKFILL	C.Y.	72000	\$12.00	\$864,000.00	\$7.20	\$518,400.00	\$6.00	\$432,000.00
8	BACKFILL PREPARATION	C.Y.	5000	\$3.00	\$15,000.00	\$7.10	\$35,500.00	\$6.50	\$32,500.00
9	CONTROLLED LOW STRENGTH	C.Y.	1250	\$100.00	\$125,000.00	\$162.00	\$202,500.00	\$125.00	\$156,250.00
10	MATERIAL (CLSM) FILTER MATERIAL	C.Y.	500	\$40.00	\$20,000.00	\$82.00	\$41,000.00	\$55.00	\$27,500.00
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$50,000.00	\$50,000.00	\$1,200,000.00	\$1,200,000.00	\$400,000.00	\$400,000.00
12	FALSEWORK CLASS "A" CONCRETE, REINFORCED	C.Y.	317	\$800.00	\$253,600.00	\$675.00	\$213,975.00	\$630.00	\$199,710.00
13	CONCRETE BOX CLASS "A" CONCRETE, CHANNEL	C.Y.	6510	\$650.00	\$4,231,500.00	\$320.00	\$2,083,200.00	\$380.00	\$2,473,800.00
14	WALL CLASS "A" CONCRETE, CHANNEL	C.Y.	90	\$650.00	\$58,500.00	\$340.00	\$30,600.00	\$500.00	\$45,000.00
15	FOOTING CLASS "A" CONCRETE, MINOR	C.Y.	60	\$850.00	\$51,000.00	\$850.00	\$51,000.00	\$920.00	\$55,200.00
16	STRUCTURES CLASS "A" CONCRETE, CHANNEL	C.Y.	9650	\$550.00	\$5,307,500.00	\$331.00	\$3,194,150.00	\$410.00	\$3,956,500.00
17	INVERT CLASS "A" CONCRETE, CHANNEL	C.Y.	3045	\$350.00	\$1,065,750.00	\$320.00	\$974,400.00	\$310.00	\$943,950.00
18	PAVING CLASS "B" CONCRETE, 2' CUTOFF	L.F.	5610	\$12.00	\$67,320.00	\$6.00	\$33,660.00	\$11.00	\$61,710.00
19	WALL CLASS "B" CONCRETE, 1.5' CUTOFF WALL	L.F.	376	\$12.00	\$4,512.00	\$16.00	\$6,016.00	\$18.00	\$6,768.00
20	CLASS "B" CONCRETE, CONCRETED ROCK	C.Y.	2000	\$150.00	\$300,000.00	\$133.00	\$266,000.00	\$190.00	\$380,000.00
21	CLASS "B" CONCRETE,	C.Y.	400	\$450.00	\$180,000.00	\$307.00	\$122,800.00	\$440.00	\$176,000.00
22	MISCELLANEOUS JUNCTION STRUCTURE NO. 1	EACH	4	\$6,000.00	\$24,000.00	\$4,600.00	\$18,400.00	\$9,500.00	\$38,000.00
23	JUNCTION STRUCTURE NO. 6	EACH	5	\$5,000.00	\$25,000.00	\$3,300.00	\$16,500.00	\$6,500.00	\$32,500.00
24	MANHOLE NO. 3	EACH	1	\$3,500.00	\$3,500.00	\$3,200.00	\$3,200.00	\$1,700.00	\$1,700.00
25	18" RCP, CLASS IV	L.F.	43	\$150.00	\$6,450.00	\$185.00	\$7,955.00	\$110.00	\$4,730.00
					I			I	

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

 Bid Open Date:
 7/12/2017

 Page 2 of 15



	7/12/2017						. 490		
			Et	NGINEER'S ESTIMATE		SUKUT CONSTRUCTION	I, LLC	MAMCO, INC. dba ALAB	BASI
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	24" RCP, CLASS IV	L.F.	83	\$150.00	\$12,450.00	\$146.00	\$12,118.00	\$150.00	\$12,450.00
27	27" RCP, 1400D	L.F.	8	\$200.00	\$1,600.00	\$267.00	\$2,136.00	\$345.00	\$2,760.00
28	30" RCP, 2000D	L.F.	17	\$200.00	\$3,400.00	\$165.00	\$2,805.00	\$350.00	\$5,950.00
29	48" RCP, 2000D	L.F.	23	\$280.00	\$6,440.00	\$286.00	\$6,578.00	\$410.00	\$9,430.00
30	54" RCP, 2000D	L.F.	31	\$300.00	\$9,300.00	\$271.00	\$8,401.00	\$400.00	\$12,400.00
31	72" RCP, 1450D	L.F.	51	\$400.00	\$20,400.00	\$423.00	\$21,573.00	\$500.00	\$25,500.00
32	84" RCP, 1200D	L.F.	11	\$525.00	\$5,775.00	\$839.00	\$9,229.00	\$850.00	\$9,350.00
33	AGGREGATE BASE, CLASS 2	C.Y.	420	\$50.00	\$21,000.00	\$52.00	\$21,840.00	\$46.00	\$19,320.00
34	HOT MIX ASPHALT (HMA)	TONS	480	\$150.00	\$72,000.00	\$95.00	\$45,600.00	\$95.00	\$45,600.00
35	6-FOOT CHAIN LINK FENCE	L.F.	17800	\$15.00	\$267,000.00	\$14.60	\$259,880.00	\$15.00	\$267,000.00
36	AIRFORCE SECURITY FENCE	L.F.	1875	\$18.00	\$33,750.00	\$42.00	\$78,750.00	\$45.00	\$84,375.00
37	TEMPORARY FENCE	L.F.	2600	\$12.00	\$31,200.00	\$7.80	\$20,280.00	\$6.00	\$15,600.00
38	3-FOOT CABLE RAILING	L.F.	14100	\$15.00	\$211,500.00	\$13.75	\$193,875.00	\$14.00	\$197,400.00
39	24-FOOT DOUBLE DRIVE SECURITY GATES	PAIR	3	\$2,500.00	\$7,500.00	\$3,900.00	\$11,700.00	\$4,000.00	\$12,000.00
40	14-FOOT DOUBLE DRIVE GATES	PAIR	8	\$1,500.00	\$12,000.00	\$1,125.00	\$9,000.00	\$1,200.00	\$9,600.00
41	MISCELLANEOUS IRON AND STEEL	LBS.	6000	\$3.00	\$18,000.00	\$2.10	\$12,600.00	\$2.50	\$15,000.00
42	REMOVAL OF TALL TREES	L.S.	1	\$150,000.00	\$150,000.00	\$108,000.00	\$108,000.00	\$185,000.00	\$185,000.00
43	METAL BEAM GUARD RAILING	L.F.	3155	\$80.00	\$252,400.00	\$29.00	\$91,495.00	\$30.00	\$94,650.00
44	LANDFILL PROTECTION PLAN	L.S.	1	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$600.00	\$600.00
45	EXPANDED GROUNDWATER EXTRACTION AND TREATMENT SYSTEM (EGETS) RELOCATION	L.S.	1	\$2,250.00	\$2,250.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00
46	SUBDRAIN	L.F.	11610	\$20.00	\$232,200.00	\$9.30	\$107,973.00	\$20.00	\$232,200.00
47	EXTRA DIRECTED WORK	L.S.	1	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00
48	ROCK SLOPE PROTECTION, 1/4-TON	C.Y.	100	\$70.00	\$7,000.00	\$92.00	\$9,200.00	\$65.00	\$6,500.00
49	CLASS FILTER BLANKET, NO. 2 BACKING	C.Y.	100	\$60.00	\$6,000.00	\$57.00	\$5,700.00	\$55.00	\$5,500.00
50	ONE INCH (1") CRUSHED ROCK	C.Y.	2360	\$45.00	\$106,200.00	\$58.00	\$136,880.00	\$46.00	\$108,560.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

Bid Open Date: 7/12/2017



				ENGINEER'S ESTIMATE		SUKUT CONSTRUCTION	N, LLC	MAMCO, INC. dba ALAB	BASI
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
51	ROCK SLOPE PROTECTION FABRIC	S.Y.	110	\$5.00	\$550.00	\$3.50	\$385.00	\$5.00	\$550.00
52	DUST ABATEMENT	L.S.	1	\$60,000.00	\$60,000.00	\$185,000.00	\$185,000.00	\$320,000.00	\$320,000.00
53	HYDROSEEDING	ACRE	2	\$3,000.00	\$6,000.00	\$2,100.00	\$4,200.00	\$2,100.00	\$4,200.00
54	STORMWATER AND NON-	L.S.	1	\$60,000.00	\$60,000.00	\$143,000.00	\$143,000.00	\$50,000.00	\$50,000.00
55	STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$150,000.00	\$150,000.00	\$44,500.00	\$44,500.00	\$1.00	\$1.00
56	GROUNDWATER INVESTIGATION	EACH	1	\$2,500.00	\$2,500.00	\$600.00	\$600.00	\$6,000.00	\$6,000.00
57	GROUNDWATER TESTING	EACH	1	\$3,500.00	\$3,500.00	\$1,100.00	\$1,100.00	\$3,000.00	\$3,000.00
	•	^	_		\$16,730,747,00		\$13.591.604.00		\$13 867 530 90

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

Bid Open Date: 7/12/2017 Page 4 of 15



			ι	JSS CAL BUILDERS, INC.		H & H GENERAL CONTR	ACTORS, INC.	KEC ENGINEERING	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$1,134,505.00	\$1,134,505.00	\$1,460,000.00	\$1,460,000.00	\$50,000.00	\$50,000.00
2	WATER CONTROL	L.S.	1	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00	\$11,500.00	\$11,500.00
3	TRAFFIC CONTROL	L.S.	1	\$43,600.00	\$43,600.00	\$170,000.00	\$170,000.00	\$90,000.00	\$90,000.00
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$550,000.00	\$550,000.00	\$1,640,000.00	\$1,640,000.00	\$500,000.00	\$500,000.00
5	WORK EXCAVATION	C.Y.	93000	\$6.20	\$576,600.00	\$6.90	\$641,700.00	\$18.00	\$1,674,000.00
6	ASPHALT CONCRETE EXCAVATION	C.Y.	515	\$50.00	\$25,750.00	\$16.50	\$8,497.50	\$56.00	\$28,840.00
7	BACKFILL	C.Y.	72000	\$12.50	\$900,000.00	\$4.75	\$342,000.00	\$12.50	\$900,000.00
8	BACKFILL PREPARATION	C.Y.	5000	\$5.00	\$25,000.00	\$8.00	\$40,000.00	\$4.50	\$22,500.00
9	CONTROLLED LOW STRENGTH	C.Y.	1250	\$85.00	\$106,250.00	\$142.00	\$177,500.00	\$235.00	\$293,750.00
10	MATERIAL (CLSM) FILTER MATERIAL	C.Y.	500	\$35.00	\$17,500.00	\$45.00	\$22,500.00	\$34.00	\$17,000.00
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$781,000.00	\$781,000.00	\$100,000.00	\$100,000.00	\$480,000.00	\$480,000.00
12	FALSEWORK CLASS "A" CONCRETE, REINFORCED	C.Y.	317	\$607.80	\$192,672.60	\$643.00	\$203,831.00	\$800.00	\$253,600.00
13	CONCRETE BOX CLASS "A" CONCRETE, CHANNEL	C.Y.	6510	\$390.34	\$2,541,113.40	\$436.00	\$2,838,360.00	\$380.00	\$2,473,800.00
14	WALL CLASS "A" CONCRETE, CHANNEL	C.Y.	90	\$396.00	\$35,640.00	\$401.00	\$36,090.00	\$455.00	\$40,950.00
15	FOOTING CLASS "A" CONCRETE, MINOR	C.Y.	60	\$482.65	\$28,959.00	\$730.00	\$43,800.00	\$965.00	\$57,900.00
16	STRUCTURES CLASS "A" CONCRETE, CHANNEL	C.Y.	9650	\$321.45	\$3,101,992.50	\$345.00	\$3,329,250.00	\$410.00	\$3,956,500.00
17	INVERT CLASS "A" CONCRETE, CHANNEL	C.Y.	3045	\$352.70	\$1,073,971.50	\$420.00	\$1,278,900.00	\$465.00	\$1,415,925.00
18	PAVING CLASS "B" CONCRETE, 2' CUTOFF	L.F.	5610	\$22.76	\$127,683.60	\$16.00	\$89,760.00	\$15.50	\$86,955.00
19	WALL CLASS "B" CONCRETE, 1.5' CUTOFF	L.F.	376	\$41.00	\$15,416.00	\$21.00	\$7,896.00	\$25.00	\$9,400.00
20	WALL CLASS "B" CONCRETE, CONCRETED	C.Y.	2000	\$134.00	\$268,000.00	\$139.00	\$278,000.00	\$166.00	\$332,000.00
21	ROCK CLASS "B" CONCRETE,	C.Y.	400	\$350.00	\$140,000.00	\$325.00	\$130,000.00	\$475.00	\$190,000.00
22	MISCELLANEOUS JUNCTION STRUCTURE NO. 1	EACH	4	\$3,500.00	\$14,000.00	\$4,225.00	\$16,900.00	\$5,700.00	\$22,800.00
23	JUNCTION STRUCTURE NO. 6	EACH	5	\$3,500.00	\$17,500.00	\$3,315.00	\$16,575.00	\$5,400.00	\$27,000.00
24	MANHOLE NO. 3	EACH	1	\$2,000.00	\$2,000.00	\$7,280.00	\$7,280.00	\$3,200.00	\$3,200.00
25	18" RCP, CLASS IV	L.F.	43	\$130.00	\$5,590.00	\$340.00	\$14,620.00	\$94.00	\$4,042.00
			I					I	

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

Bid Open Date: 7/12/2017 Page 5 of 15



			U	ISS CAL BUILDERS, INC.		H & H GENERAL CONTR	ACTORS, INC.	KEC ENGINEERING	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	24" RCP, CLASS IV	L.F.	83	\$132.00	\$10,956.00	\$210.00	\$17,430.00	\$105.00	\$8,715.00
27	27" RCP, 1400D	L.F.	8	\$150.00	\$1,200.00	\$392.00	\$3,136.00	\$140.00	\$1,120.00
28	30" RCP, 2000D	L.F.	17	\$150.00	\$2,550.00	\$290.00	\$4,930.00	\$103.00	\$1,751.00
29	48" RCP, 2000D	L.F.	23	\$358.00	\$8,234.00	\$414.00	\$9,522.00	\$284.00	\$6,532.00
30	54" RCP, 2000D	L.F.	31	\$306.00	\$9,486.00	\$473.00	\$14,663.00	\$275.00	\$8,525.00
31	72" RCP, 1450D	L.F.	51	\$308.00	\$15,708.00	\$402.00	\$20,502.00	\$397.00	\$20,247.00
32	84" RCP, 1200D	L.F.	11	\$717.00	\$7,887.00	\$1,182.00	\$13,002.00	\$560.00	\$6,160.00
33	AGGREGATE BASE, CLASS 2	C.Y.	420	\$45.00	\$18,900.00	\$80.00	\$33,600.00	\$95.00	\$39,900.00
34	HOT MIX ASPHALT (HMA)	TONS	480	\$162.00	\$77,760.00	\$99.00	\$47,520.00	\$100.00	\$48,000.00
35	6-FOOT CHAIN LINK FENCE	L.F.	17800	\$19.30	\$343,540.00	\$16.00	\$284,800.00	\$16.00	\$284,800.00
36	AIRFORCE SECURITY FENCE	L.F.	1875	\$38.16	\$71,550.00	\$45.00	\$84,375.00	\$46.00	\$86,250.00
37	TEMPORARY FENCE	L.F.	2600	\$16.65	\$43,290.00	\$6.00	\$15,600.00	\$6.50	\$16,900.00
38	3-FOOT CABLE RAILING	L.F.	14100	\$14.84	\$209,244.00	\$15.00	\$211,500.00	\$15.00	\$211,500.00
39	24-FOOT DOUBLE DRIVE SECURITY GATES	PAIR	3	\$5,088.00	\$15,264.00	\$4,100.00	\$12,300.00	\$4,300.00	\$12,900.00
40	14-FOOT DOUBLE DRIVE GATES	PAIR	8	\$1,908.00	\$15,264.00	\$1,200.00	\$9,600.00	\$1,250.00	\$10,000.00
41	MISCELLANEOUS IRON AND STEEL	LBS.	6000	\$2.25	\$13,500.00	\$1.15	\$6,900.00	\$2.50	\$15,000.00
42	REMOVAL OF TALL TREES	L.S.	1	\$200,000.00	\$200,000.00	\$252,000.00	\$252,000.00	\$95,000.00	\$95,000.00
43	METAL BEAM GUARD RAILING	L.F.	3155	\$40.28	\$127,083.40	\$33.00	\$104,115.00	\$31.50	\$99,382.50
44	LANDFILL PROTECTION PLAN	L.S.	1	\$7,000.00	\$7,000.00	\$560.00	\$560.00	\$5,000.00	\$5,000.00
45	EXPANDED GROUNDWATER EXTRACTION AND TREATMENT SYSTEM (EGETS) RELOCATION	L.S.	1	\$5,000.00	\$5,000.00	\$12,500.00	\$12,500.00	\$4,300.00	\$4,300.00
46	SUBDRAIN	L.F.	11610	\$15.00	\$174,150.00	\$15.20	\$176,472.00	\$30.50	\$354,105.00
47	EXTRA DIRECTED WORK	L.S.	1	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00
48	ROCK SLOPE PROTECTION, 1/4-TON CLASS	C.Y.	100	\$70.00	\$7,000.00	\$47.00	\$4,700.00	\$125.00	\$12,500.00
49	FILTER BLANKET, NO. 2 BACKING	C.Y.	100	\$60.00	\$6,000.00	\$71.00	\$7,100.00	\$81.00	\$8,100.00
50	ONE INCH (1") CRUSHED ROCK	C.Y.	2360	\$42.00	\$99,120.00	\$45.00	\$106,200.00	\$62.00	\$146,320.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

Bid Open Date: 7/12/2017 Page 6 of 15

NO WALLEN	# CONTRACTOR OF THE PARTY OF TH	
RING		

TOUNTY FLO

				USS CAL BUILDERS, INC.		H & H GENERAL CONTR	RACTORS, INC.	KEC ENGINEERING	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
51	ROCK SLOPE PROTECTION FABRIC	S.Y.	110	\$3.00	\$330.00	\$16.00	\$1,760.00	\$13.00	\$1,430.00
52	DUST ABATEMENT	L.S.	1	\$132,000.00	\$132,000.00	\$11,200.00	\$11,200.00	\$200,000.00	\$200,000.00
53	HYDROSEEDING	ACRE	2	\$1,962.00	\$3,924.00	\$2,500.00	\$5,000.00	\$2,330.00	\$4,660.00
54	STORMWATER AND NON- STORMWATER POLLUTION CONTROL	L.S.	1	\$100,000.00	\$100,000.00	\$24,000.00	\$24,000.00	\$83,000.00	\$83,000.00
55	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$12,000.00	\$12,000.00	\$50,000.00	\$50,000.00	\$73,000.00	\$73,000.00
56	GROUNDWATER INVESTIGATION	EACH	1	\$5,000.00	\$5,000.00	\$3,100.00	\$3,100.00	\$6,000.00	\$6,000.00
57	GROUNDWATER TESTING	EACH	1	\$3,500.00	\$3,500.00	\$4,500.00	\$4,500.00	\$600.00	\$600.00
	•				\$14,086,184.00		\$15,081,046.50		\$15,413,359.50
					'			1	

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

 Bid Open Date:
 7/12/2017

 Page 7 of 15



			;	STEVE P. RADOS, INC. BOSCO CONSTRUCTORS, INC.			RIVERSIDE CONSTRUCTION COMPANY, INC.		
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$750,000.00	\$750,000.00	\$500,000.00	\$500,000.00	\$1,500,000.00	\$1,500,000.00
2	WATER CONTROL	L.S.	1	\$300,000.00	\$300,000.00	\$500,000.00	\$500,000.00	\$100,000.00	\$100,000.00
3	TRAFFIC CONTROL	L.S.	1	\$150,000.00	\$150,000.00	\$247,994.00	\$247,994.00	\$375,000.00	\$375,000.00
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$300,000.00	\$300,000.00	\$500,000.00	\$500,000.00	\$990,000.00	\$990,000.00
5	WORK EXCAVATION	C.Y.	93000	\$5.00	\$465,000.00	\$10.00	\$930,000.00	\$14.00	\$1,302,000.00
6	ASPHALT CONCRETE EXCAVATION	C.Y.	515	\$50.00	\$25,750.00	\$100.00	\$51,500.00	\$25.00	\$12,875.00
7	BACKFILL	C.Y.	72000	\$15.00	\$1,080,000.00	\$5.00	\$360,000.00	\$5.00	\$360,000.00
8	BACKFILL PREPARATION	C.Y.	5000	\$7.00	\$35,000.00	\$10.00	\$50,000.00	\$7.00	\$35,000.00
9	CONTROLLED LOW STRENGTH	C.Y.	1250	\$150.00	\$187,500.00	\$100.00	\$125,000.00	\$150.00	\$187,500.00
10	MATERIAL (CLSM) FILTER MATERIAL	C.Y.	500	\$50.00	\$25,000.00	\$100.00	\$50,000.00	\$80.00	\$40,000.00
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$10,000.00	\$10,000.00	\$150,000.00	\$150,000.00	\$700,000.00	\$700,000.00
12	FALSEWORK CLASS "A" CONCRETE, REINFORCED	C.Y.	317	\$1,000.00	\$317,000.00	\$500.00	\$158,500.00	\$1,000.00	\$317,000.00
13	CONCRETE BOX CLASS "A" CONCRETE, CHANNEL	C.Y.	6510	\$677.00	\$4,407,270.00	\$500.00	\$3,255,000.00	\$515.00	\$3,352,650.00
14	WALL CLASS "A" CONCRETE, CHANNEL	C.Y.	90	\$500.00	\$45,000.00	\$600.00	\$54,000.00	\$550.00	\$49,500.00
15	FOOTING CLASS "A" CONCRETE, MINOR	C.Y.	60	\$2,000.00	\$120,000.00	\$600.00	\$36,000.00	\$1,500.00	\$90,000.00
16	STRUCTURES CLASS "A" CONCRETE, CHANNEL	C.Y.	9650	\$350.00	\$3,377,500.00	\$375.00	\$3,618,750.00	\$300.00	\$2,895,000.00
17	INVERT CLASS "A" CONCRETE, CHANNEL	C.Y.	3045	\$280.00	\$852,600.00	\$350.00	\$1,065,750.00	\$300.00	\$913,500.00
18	PAVING CLASS "B" CONCRETE, 2' CUTOFF	L.F.	5610	\$20.00	\$112,200.00	\$25.00	\$140,250.00	\$15.00	\$84,150.00
19	WALL CLASS "B" CONCRETE, 1.5' CUTOFF	L.F.	376	\$25.00	\$9,400.00	\$25.00	\$9,400.00	\$25.00	\$9,400.00
20	WALL CLASS "B" CONCRETE, CONCRETED	C.Y.	2000	\$140.00	\$280,000.00	\$75.00	\$150,000.00	\$135.00	\$270,000.00
21	ROCK CLASS "B" CONCRETE,	C.Y.	400	\$625.00	\$250,000.00	\$400.00	\$160,000.00	\$300.00	\$120,000.00
22	MISCELLANEOUS JUNCTION STRUCTURE NO. 1	EACH	4	\$12,000.00	\$48,000.00	\$25,000.00	\$100,000.00	\$8,500.00	\$34,000.00
23	JUNCTION STRUCTURE NO. 6	EACH	5	\$15,000.00	\$75,000.00	\$25,000.00	\$125,000.00	\$7,000.00	\$35,000.00
24	MANHOLE NO. 3	EACH	1	\$12,000.00	\$12,000.00	\$20,000.00	\$20,000.00	\$3,500.00	\$3,500.00
25	18" RCP, CLASS IV	L.F.	43	\$250.00	\$10,750.00	\$475.00	\$20,425.00	\$190.00	\$8,170.00
			ı		I				

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

Bid Open Date: 7/12/2017 Page 8 of 15



				TEVE P. RADOS, INC.		BOSCO CONSTRUCTOR	S, INC.	RIVERSIDE CONSTRUCTION COMPANY,		
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	INC. Unit Bid	Total Bid	
26	24" RCP, CLASS IV	L.F.	83	\$300.00	\$24,900.00	\$500.00	\$41,500.00	\$185.00	\$15,355.00	
27	27" RCP, 1400D	L.F.	8	\$400.00	\$3,200.00	\$550.00	\$4,400.00	\$295.00	\$2,360.00	
28	30" RCP, 2000D	L.F.	17	\$400.00	\$6,800.00	\$600.00	\$10,200.00	\$165.00	\$2,805.00	
29	48" RCP, 2000D	L.F.	23	\$450.00	\$10,350.00	\$700.00	\$16,100.00	\$290.00	\$6,670.00	
30	54" RCP, 2000D	L.F.	31	\$500.00	\$15,500.00	\$800.00	\$24,800.00	\$365.00	\$11,315.00	
31	72" RCP, 1450D	L.F.	51	\$600.00	\$30,600.00	\$900.00	\$45,900.00	\$400.00	\$20,400.00	
32	84" RCP, 1200D	L.F.	11	\$700.00	\$7,700.00	\$1,000.00	\$11,000.00	\$520.00	\$5,720.00	
33	AGGREGATE BASE, CLASS 2	C.Y.	420	\$100.00	\$42,000.00	\$25.00	\$10,500.00	\$45.00	\$18,900.00	
34	HOT MIX ASPHALT (HMA)	TONS	480	\$100.00	\$48,000.00	\$150.00	\$72,000.00	\$90.00	\$43,200.00	
35	6-FOOT CHAIN LINK FENCE	L.F.	17800	\$15.00	\$267,000.00	\$20.00	\$356,000.00	\$15.00	\$267,000.00	
36	AIRFORCE SECURITY FENCE	L.F.	1875	\$40.00	\$75,000.00	\$50.00	\$93,750.00	\$40.00	\$75,000.00	
37	TEMPORARY FENCE	L.F.	2600	\$6.00	\$15,600.00	\$45.00	\$117,000.00	\$10.00	\$26,000.00	
38	3-FOOT CABLE RAILING	L.F.	14100	\$14.00	\$197,400.00	\$15.00	\$211,500.00	\$16.00	\$225,600.00	
39	24-FOOT DOUBLE DRIVE SECURITY GATES	PAIR	3	\$4,000.00	\$12,000.00	\$5,000.00	\$15,000.00	\$5,800.00	\$17,400.00	
40	14-FOOT DOUBLE DRIVE GATES	PAIR	8	\$1,100.00	\$8,800.00	\$2,000.00	\$16,000.00	\$3,100.00	\$24,800.00	
41	MISCELLANEOUS IRON AND STEEL	LBS.	6000	\$5.00	\$30,000.00	\$10.00	\$60,000.00	\$1.00	\$6,000.00	
42	REMOVAL OF TALL TREES	L.S.	1	\$80,000.00	\$80,000.00	\$150,000.00	\$150,000.00	\$200,000.00	\$200,000.00	
43	METAL BEAM GUARD RAILING	L.F.	3155	\$30.00	\$94,650.00	\$35.00	\$110,425.00	\$30.00	\$94,650.00	
44	LANDFILL PROTECTION PLAN	L.S.	1	\$1,000.00	\$1,000.00	\$50,000.00	\$50,000.00	\$2,500.00	\$2,500.00	
45	EXPANDED GROUNDWATER EXTRACTION AND TREATMENT SYSTEM (EGETS) RELOCATION	L.S.	1	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$6,500.00	\$6,500.00	
46	SUBDRAIN	L.F.	11610	\$13.00	\$150,930.00	\$35.00	\$406,350.00	\$20.00	\$232,200.00	
47	EXTRA DIRECTED WORK	L.S.	1	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00	
48	ROCK SLOPE PROTECTION, 1/4-TON	C.Y.	100	\$110.00	\$11,000.00	\$100.00	\$10,000.00	\$125.00	\$12,500.00	
49	CLASS FILTER BLANKET, NO. 2 BACKING	C.Y.	100	\$110.00	\$11,000.00	\$100.00	\$10,000.00	\$75.00	\$7,500.00	
50	ONE INCH (1") CRUSHED ROCK	C.Y.	2360	\$100.00	\$236,000.00	\$75.00	\$177,000.00	\$85.00	\$200,600.00	

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

Bid Open Date: 7/12/2017



Page 9 of 15

			;	STEVE P. RADOS, INC.		BOSCO CONSTRUCTOR	RS, INC.	RIVERSIDE CONSTRU INC.	CTION COMPANY,
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
51	ROCK SLOPE PROTECTION FABRIC	S.Y.	110	\$3.00	\$330.00	\$45.00	\$4,950.00	\$5.00	\$550.00
52	DUST ABATEMENT	L.S.	1	\$50,000.00	\$50,000.00	\$250,000.00	\$250,000.00	\$50,000.00	\$50,000.00
53	HYDROSEEDING	ACRE	2	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00
54	STORMWATER AND NON- STORMWATER POLLUTION CONTROL	L.S.	1	\$250,000.00	\$250,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
55	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$25,000.00	\$25,000.00	\$200,000.00	\$200,000.00	\$50,000.00	\$50,000.00
56	GROUNDWATER INVESTIGATION	EACH	1	\$2,500.00	\$2,500.00	\$25,000.00	\$25,000.00	\$3,500.00	\$3,500.00
57	GROUNDWATER TESTING	EACH	1	\$500.00	\$500.00	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00
		•			\$15,566,730.00		\$15,726,944.00		\$16,222,270.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

Bid Open Date: 7/12/2017



Page 10 of 15

			ORTIZ ENTERPRISES INC		FLATIRON WEST, INC.		LOS ANGELES ENGINEERING, INC.		
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$1,700,000.00	\$1,700,000.00	\$200,000.00	\$200,000.00	\$209,000.00	\$209,000.00
2	WATER CONTROL	L.S.	1	\$25,000.00	\$25,000.00	\$187,600.00	\$187,600.00	\$70,000.00	\$70,000.00
3	TRAFFIC CONTROL	L.S.	1	\$430,000.00	\$430,000.00	\$494,100.00	\$494,100.00	\$95,000.00	\$95,000.00
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$400,000.00	\$400,000.00	\$192,500.00	\$192,500.00	\$818,000.00	\$818,000.00
5	WORK EXCAVATION	C.Y.	93000	\$21.00	\$1,953,000.00	\$9.05	\$841,650.00	\$17.50	\$1,627,500.00
6	ASPHALT CONCRETE EXCAVATION	C.Y.	515	\$200.00	\$103,000.00	\$43.90	\$22,608.50	\$60.00	\$30,900.00
7	BACKFILL	C.Y.	72000	\$10.00	\$720,000.00	\$16.30	\$1,173,600.00	\$5.50	\$396,000.00
8	BACKFILL PREPARATION	C.Y.	5000	\$8.00	\$40,000.00	\$22.70	\$113,500.00	\$8.00	\$40,000.00
9	CONTROLLED LOW STRENGTH	C.Y.	1250	\$130.00	\$162,500.00	\$157.00	\$196,250.00	\$190.00	\$237,500.00
10	MATERIAL (CLSM) FILTER MATERIAL	C.Y.	500	\$100.00	\$50,000.00	\$93.40	\$46,700.00	\$50.00	\$25,000.00
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$295,000.00	\$295,000.00	\$671,500.00	\$671,500.00	\$1,216,000.00	\$1,216,000.00
12	FALSEWORK CLASS "A" CONCRETE, REINFORCED	C.Y.	317	\$1,150.00	\$364,550.00	\$690.00	\$218,730.00	\$1,000.00	\$317,000.00
13	CONCRETE BOX CLASS "A" CONCRETE, CHANNEL	C.Y.	6510	\$350.00	\$2,278,500.00	\$585.95	\$3,814,534.50	\$776.00	\$5,051,760.00
14	WALL CLASS "A" CONCRETE, CHANNEL	C.Y.	90	\$610.00	\$54,900.00	\$355.00	\$31,950.00	\$500.00	\$45,000.00
15	FOOTING CLASS "A" CONCRETE, MINOR	C.Y.	60	\$2,000.00	\$120,000.00	\$1,900.00	\$114,000.00	\$1,100.00	\$66,000.00
16	STRUCTURES CLASS "A" CONCRETE, CHANNEL	C.Y.	9650	\$390.00	\$3,763,500.00	\$410.00	\$3,956,500.00	\$400.00	\$3,860,000.00
17	INVERT CLASS "A" CONCRETE, CHANNEL	C.Y.	3045	\$450.00	\$1,370,250.00	\$379.23	\$1,154,755.35	\$350.00	\$1,065,750.00
18	PAVING CLASS "B" CONCRETE, 2' CUTOFF	L.F.	5610	\$45.00	\$252,450.00	\$11.20	\$62,832.00	\$14.00	\$78,540.00
19	WALL CLASS "B" CONCRETE, 1.5' CUTOFF	L.F.	376	\$80.00	\$30,080.00	\$20.20	\$7,595.20	\$20.00	\$7,520.00
20	WALL CLASS "B" CONCRETE, CONCRETED	C.Y.	2000	\$140.00	\$280,000.00	\$176.00	\$352,000.00	\$135.00	\$270,000.00
21	ROCK CLASS "B" CONCRETE,	C.Y.	400	\$470.00	\$188,000.00	\$677.00	\$270,800.00	\$465.00	\$186,000.00
22	MISCELLANEOUS JUNCTION STRUCTURE NO. 1	EACH	4	\$25,000.00	\$100,000.00	\$12,600.00	\$50,400.00	\$5,000.00	\$20,000.00
23	JUNCTION STRUCTURE NO. 6	EACH	5	\$14,300.00	\$71,500.00	\$10,100.00	\$50,500.00	\$6,000.00	\$30,000.00
24	MANHOLE NO. 3	EACH	1	\$7,300.00	\$7,300.00	\$5,480.00	\$5,480.00	\$4,500.00	\$4,500.00
25	18" RCP, CLASS IV	L.F.	43	\$620.00	\$26,660.00	\$330.00	\$14,190.00	\$320.00	\$13,760.00
			I						

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

Bid Open Date: 7/12/2017



Page 11 of 15

		(ORTIZ ENTERPRISES INC	FLATIRON WEST, INC.		LOS ANGELES ENGINEERING, INC.			
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	24" RCP, CLASS IV	L.F.	83	\$350.00	\$29,050.00	\$267.00	\$22,161.00	\$305.00	\$25,315.00
27	27" RCP, 1400D	L.F.	8	\$660.00	\$5,280.00	\$600.00	\$4,800.00	\$305.00	\$2,440.00
28	30" RCP, 2000D	L.F.	17	\$660.00	\$11,220.00	\$378.00	\$6,426.00	\$295.00	\$5,015.00
29	48" RCP, 2000D	L.F.	23	\$550.00	\$12,650.00	\$473.00	\$10,879.00	\$365.00	\$8,395.00
30	54" RCP, 2000D	L.F.	31	\$860.00	\$26,660.00	\$414.00	\$12,834.00	\$390.00	\$12,090.00
31	72" RCP, 1450D	L.F.	51	\$700.00	\$35,700.00	\$592.00	\$30,192.00	\$510.00	\$26,010.00
32	84" RCP, 1200D	L.F.	11	\$1,400.00	\$15,400.00	\$903.00	\$9,933.00	\$590.00	\$6,490.00
33	AGGREGATE BASE, CLASS 2	C.Y.	420	\$200.00	\$84,000.00	\$89.20	\$37,464.00	\$83.00	\$34,860.00
34	HOT MIX ASPHALT (HMA)	TONS	480	\$295.00	\$141,600.00	\$133.00	\$63,840.00	\$110.00	\$52,800.00
35	6-FOOT CHAIN LINK FENCE	L.F.	17800	\$13.70	\$243,860.00	\$15.30	\$272,340.00	\$15.00	\$267,000.00
36	AIRFORCE SECURITY FENCE	L.F.	1875	\$39.75	\$74,531.25	\$42.70	\$80,062.50	\$43.00	\$80,625.00
37	TEMPORARY FENCE	L.F.	2600	\$5.50	\$14,300.00	\$5.90	\$15,340.00	\$6.00	\$15,600.00
38	3-FOOT CABLE RAILING	L.F.	14100	\$12.85	\$181,185.00	\$14.30	\$201,630.00	\$14.00	\$197,400.00
39	24-FOOT DOUBLE DRIVE SECURITY	PAIR	3	\$3,700.00	\$11,100.00	\$3,920.00	\$11,760.00	\$4,000.00	\$12,000.00
40	GATES 14-FOOT DOUBLE DRIVE GATES	PAIR	8	\$1,050.00	\$8,400.00	\$1,130.00	\$9,040.00	\$1,150.00	\$9,200.00
41	MISCELLANEOUS IRON AND STEEL	LBS.	6000	\$5.00	\$30,000.00	\$2.80	\$16,800.00	\$1.00	\$6,000.00
42	REMOVAL OF TALL TREES	L.S.	1	\$100,000.00	\$100,000.00	\$212,500.00	\$212,500.00	\$100,000.00	\$100,000.00
43	METAL BEAM GUARD RAILING	L.F.	3155	\$28.00	\$88,340.00	\$32.30	\$101,906.50	\$30.00	\$94,650.00
44	LANDFILL PROTECTION PLAN	L.S.	1	\$5,000.00	\$5,000.00	\$3,080.00	\$3,080.00	\$3,000.00	\$3,000.00
45	EXPANDED GROUNDWATER EXTRACTION AND TREATMENT SYSTEM (EGETS) RELOCATION	L.S.	1	\$90,000.00	\$90,000.00	\$108,400.00	\$108,400.00	\$7,000.00	\$7,000.00
46	SUBDRAIN	L.F.	11610	\$17.00	\$197,370.00	\$18.80	\$218,268.00	\$15.00	\$174,150.00
47	EXTRA DIRECTED WORK	L.S.	1	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00
48	ROCK SLOPE PROTECTION, 1/4-TON	C.Y.	100	\$100.00	\$10,000.00	\$168.00	\$16,800.00	\$88.00	\$8,800.00
49	CLASS FILTER BLANKET, NO. 2 BACKING	C.Y.	100	\$5.00	\$500.00	\$168.00	\$16,800.00	\$88.00	\$8,800.00
50	ONE INCH (1") CRUSHED ROCK	C.Y.	2360	\$72.00	\$169,920.00	\$116.00	\$273,760.00	\$60.00	\$141,600.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

Bid Open Date: 7/12/2017





		(ORTIZ ENTERPRISES INC		FLATIRON WEST, INC.		LOS ANGELES ENGINEE	RING, INC.
o. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
ROCK SLOPE PROTECTION FABRIC	S.Y.	110	\$5.00	\$550.00	\$10.20	\$1,122.00	\$5.00	\$550.00
DUST ABATEMENT	L.S.	1	\$100,000.00	\$100,000.00	\$90,300.00	\$90,300.00	\$78,000.00	\$78,000.00
HYDROSEEDING	ACRE	2	\$1,900.00	\$3,800.00	\$2,000.00	\$4,000.00	\$2,200.00	\$4,400.00
STORMWATER AND NON-	L.S.	1	\$10,000.00	\$10,000.00	\$517,700.00	\$517,700.00	\$55,000.00	\$55,000.00
NON-STORMWATER DISCHARGE OR	L.S.	1	\$25,000.00	\$25,000.00	\$134,400.00	\$134,400.00	\$27,000.00	\$27,000.00
GROUNDWATER INVESTIGATION	EACH	1	\$15,000.00	\$15,000.00	\$2,150.00	\$2,150.00	\$3,800.00	\$3,800.00
GROUNDWATER TESTING	EACH	1	\$20,000.00	\$20,000.00	\$3,760.00	\$3,760.00	\$1,100.00	\$1,100.00
	•			\$17,146,606.25		\$17,354,723.55		\$17,849,820.00
	ROCK SLOPE PROTECTION FABRIC DUST ABATEMENT HYDROSEEDING STORMWATER AND NON- STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING GROUNDWATER INVESTIGATION	ROCK SLOPE PROTECTION FABRIC S.Y. DUST ABATEMENT L.S. HYDROSEEDING ACRE STORMWATER AND NON- STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING GROUNDWATER INVESTIGATION EACH	D. & Description COCK SLOPE PROTECTION FABRIC DUST ABATEMENT HYDROSEEDING STORMWATER AND NON- STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING GROUNDWATER INVESTIGATION L.S. 1 1 1 1 1 1 1 1 1 1 1 1 1	ROCK SLOPE PROTECTION FABRIC S.Y. 110 \$5.00 DUST ABATEMENT L.S. 1 \$100,000.00 HYDROSEEDING ACRE 2 \$1,900.00 STORMWATER AND NON- L.S. 1 \$10,000.00 STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR L.S. 1 \$25,000.00 DEWATERING GROUNDWATER INVESTIGATION EACH 1 \$15,000.00	Do. & Description Unit Quantity Unit Bid Total Bid ROCK SLOPE PROTECTION FABRIC S.Y. 110 \$5.00 \$550.00 DUST ABATEMENT L.S. 1 \$100,000.00 \$100,000.00 HYDROSEEDING ACRE 2 \$1,900.00 \$3,800.00 STORMWATER AND NON- STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR L.S. 1 \$10,000.00 \$25,000.00 DEWATERING GROUNDWATER INVESTIGATION EACH 1 \$15,000.00 \$15,000.00 GROUNDWATER TESTING EACH 1 \$20,000.00 \$20,000.00	Do. & Description Unit Quantity Unit Bid Total Bid Unit Bid ROCK SLOPE PROTECTION FABRIC S.Y. 110 \$5.00 \$550.00 \$10.20 DUST ABATEMENT L.S. 1 \$100,000.00 \$100,000.00 \$90,300.00 HYDROSEEDING ACRE 2 \$1,900.00 \$3,800.00 \$2,000.00 STORMWATER AND NON- STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR L.S. 1 \$25,000.00 \$25,000.00 \$134,400.00 DEWATERING GROUNDWATER INVESTIGATION EACH 1 \$15,000.00 \$2,150.00 GROUNDWATER TESTING EACH 1 \$20,000.00 \$20,000.00 \$3,760.00	DUST ABATEMENT L.S. 1 \$100,000.00 \$100,000.00 \$90,300.00 \$90,300.00 \$17,700.00 \$17,700.00 \$100,000.00	DUST ABATEMENT L.S. 1 \$100,000.00 \$100,000.00 \$90,300.00 \$1,122.00 \$5,000.00 \$100,000.00 \$

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

Bid Open Date: 7/12/2017 Page 13 of 15



	7/12/2017	(i age	13 01 13	SAVE.
			(CJW CONSTRUCTION, INC	·.	MYERS AND SONS CON	ISTRUCTION, LP	GRANITE CONSTRUCTI	ON COMPANY
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$1,638,785.00	\$1,638,785.00	\$950,000.00	\$950,000.00	\$1,275,000.00	\$1,275,000.00
2	WATER CONTROL	L.S.	1	\$400,000.00	\$400,000.00	\$75,000.00	\$75,000.00	\$80,000.00	\$80,000.00
3	TRAFFIC CONTROL	L.S.	1	\$200,000.00	\$200,000.00	\$150,000.00	\$150,000.00	\$200,000.00	\$200,000.00
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$860,000.00	\$860,000.00	\$140,000.00	\$140,000.00	\$500,000.00	\$500,000.00
5	WORK EXCAVATION	C.Y.	93000	\$18.00	\$1,674,000.00	\$12.00	\$1,116,000.00	\$26.00	\$2,418,000.00
6	ASPHALT CONCRETE EXCAVATION	C.Y.	515	\$64.00	\$32,960.00	\$90.00	\$46,350.00	\$40.00	\$20,600.00
7	BACKFILL	C.Y.	72000	\$24.00	\$1,728,000.00	\$20.00	\$1,440,000.00	\$35.00	\$2,520,000.00
8	BACKFILL PREPARATION	C.Y.	5000	\$44.00	\$220,000.00	\$25.00	\$125,000.00	\$10.00	\$50,000.00
9	CONTROLLED LOW STRENGTH	C.Y.	1250	\$200.00	\$250,000.00	\$250.00	\$312,500.00	\$250.00	\$312,500.00
10	MATERIAL (CLSM) FILTER MATERIAL	C.Y.	500	\$68.00	\$34,000.00	\$215.00	\$107,500.00	\$135.00	\$67,500.00
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$80,000.00	\$80,000.00	\$475,000.00	\$475,000.00	\$200,000.00	\$200,000.00
12	FALSEWORK CLASS "A" CONCRETE, REINFORCED	C.Y.	317	\$725.00	\$229,825.00	\$1,500.00	\$475,500.00	\$1,700.00	\$538,900.00
13	CONCRETE BOX CLASS "A" CONCRETE, CHANNEL	C.Y.	6510	\$416.00	\$2,708,160.00	\$1,000.00	\$6,510,000.00	\$900.00	\$5,859,000.00
14	WALL CLASS "A" CONCRETE, CHANNEL	C.Y.	90	\$280.00	\$25,200.00	\$1,000.00	\$90,000.00	\$4,500.00	\$405,000.00
15	FOOTING CLASS "A" CONCRETE, MINOR	C.Y.	60	\$1,200.00	\$72,000.00	\$3,000.00	\$180,000.00	\$3,000.00	\$180,000.00
16	STRUCTURES CLASS "A" CONCRETE, CHANNEL	C.Y.	9650	\$396.00	\$3,821,400.00	\$500.00	\$4,825,000.00	\$470.00	\$4,535,500.00
17	INVERT CLASS "A" CONCRETE, CHANNEL	C.Y.	3045	\$376.00	\$1,144,920.00	\$335.00	\$1,020,075.00	\$350.00	\$1,065,750.00
18	PAVING CLASS "B" CONCRETE, 2' CUTOFF	L.F.	5610	\$16.00	\$89,760.00	\$10.00	\$56,100.00	\$14.00	\$78,540.00
19	WALL CLASS "B" CONCRETE, 1.5' CUTOFF	L.F.	376	\$30.00	\$11,280.00	\$17.00	\$6,392.00	\$200.00	\$75,200.00
20	WALL CLASS "B" CONCRETE, CONCRETED	C.Y.	2000	\$146.00	\$292,000.00	\$215.00	\$430,000.00	\$200.00	\$400,000.00
21	ROCK CLASS "B" CONCRETE,	C.Y.	400	\$500.00	\$200,000.00	\$1,100.00	\$440,000.00	\$725.00	\$290,000.00
22	MISCELLANEOUS JUNCTION STRUCTURE NO. 1	EACH	4	\$14,000.00	\$56,000.00	\$25,000.00	\$100,000.00	\$22,000.00	\$88,000.00
23	JUNCTION STRUCTURE NO. 6	EACH	5	\$10,000.00	\$50,000.00	\$15,000.00	\$75,000.00	\$31,000.00	\$155,000.00
24	MANHOLE NO. 3	EACH	1	\$6,000.00	\$6,000.00	\$12,500.00	\$12,500.00	\$5,000.00	\$5,000.00
25	18" RCP, CLASS IV	L.F.	43	\$98.00	\$4,214.00	\$300.00	\$12,900.00	\$350.00	\$15,050.00
			ı		l				

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

Bid Open Date: 7/12/2017 Page 14 of 15



			С	JW CONSTRUCTION, INC	•	MYERS AND SONS CON	STRUCTION, LP	GRANITE CONSTRUCTION	ON COMPANY
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	24" RCP, CLASS IV	L.F.	83	\$110.00	\$9,130.00	\$200.00	\$16,600.00	\$400.00	\$33,200.00
27	27" RCP, 1400D	L.F.	8	\$130.00	\$1,040.00	\$1,200.00	\$9,600.00	\$400.00	\$3,200.00
28	30" RCP, 2000D	L.F.	17	\$160.00	\$2,720.00	\$750.00	\$12,750.00	\$420.00	\$7,140.00
29	48" RCP, 2000D	L.F.	23	\$200.00	\$4,600.00	\$650.00	\$14,950.00	\$450.00	\$10,350.00
30	54" RCP, 2000D	L.F.	31	\$260.00	\$8,060.00	\$600.00	\$18,600.00	\$470.00	\$14,570.00
31	72" RCP, 1450D	L.F.	51	\$370.00	\$18,870.00	\$600.00	\$30,600.00	\$710.00	\$36,210.00
32	84" RCP, 1200D	L.F.	11	\$600.00	\$6,600.00	\$1,600.00	\$17,600.00	\$1,000.00	\$11,000.00
33	AGGREGATE BASE, CLASS 2	C.Y.	420	\$90.00	\$37,800.00	\$50.00	\$21,000.00	\$135.00	\$56,700.00
34	HOT MIX ASPHALT (HMA)	TONS	480	\$90.00	\$43,200.00	\$190.00	\$91,200.00	\$135.00	\$64,800.00
35	6-FOOT CHAIN LINK FENCE	L.F.	17800	\$14.00	\$249,200.00	\$13.00	\$231,400.00	\$15.00	\$267,000.00
36	AIRFORCE SECURITY FENCE	L.F.	1875	\$32.00	\$60,000.00	\$40.00	\$75,000.00	\$40.00	\$75,000.00
37	TEMPORARY FENCE	L.F.	2600	\$12.00	\$31,200.00	\$5.50	\$14,300.00	\$7.00	\$18,200.00
38	3-FOOT CABLE RAILING	L.F.	14100	\$14.00	\$197,400.00	\$13.00	\$183,300.00	\$15.00	\$211,500.00
39	24-FOOT DOUBLE DRIVE SECURITY GATES	PAIR	3	\$3,000.00	\$9,000.00	\$3,500.00	\$10,500.00	\$3,700.00	\$11,100.00
40	14-FOOT DOUBLE DRIVE GATES	PAIR	8	\$1,000.00	\$8,000.00	\$1,000.00	\$8,000.00	\$1,100.00	\$8,800.00
41	MISCELLANEOUS IRON AND STEEL	LBS.	6000	\$2.60	\$15,600.00	\$6.50	\$39,000.00	\$6.00	\$36,000.00
42	REMOVAL OF TALL TREES	L.S.	1	\$225,000.00	\$225,000.00	\$200,000.00	\$200,000.00	\$300,000.00	\$300,000.00
43	METAL BEAM GUARD RAILING	L.F.	3155	\$28.00	\$88,340.00	\$25.00	\$78,875.00	\$30.00	\$94,650.00
44	LANDFILL PROTECTION PLAN	L.S.	1	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00
45	EXPANDED GROUNDWATER EXTRACTION AND TREATMENT SYSTEM (EGETS) RELOCATION	L.S.	1	\$16,000.00	\$16,000.00	\$6,750.00	\$6,750.00	\$10,000.00	\$10,000.00
46	SUBDRAIN	L.F.	11610	\$18.00	\$208,980.00	\$20.00	\$232,200.00	\$25.00	\$290,250.00
47	EXTRA DIRECTED WORK	L.S.	1	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00
48	ROCK SLOPE PROTECTION, 1/4-TON CLASS	C.Y.	100	\$125.00	\$12,500.00	\$350.00	\$35,000.00	\$200.00	\$20,000.00
49	FILTER BLANKET, NO. 2 BACKING	C.Y.	100	\$100.00	\$10,000.00	\$350.00	\$35,000.00	\$170.00	\$17,000.00
50	ONE INCH (1") CRUSHED ROCK	C.Y.	2360	\$46.00	\$108,560.00	\$115.00	\$271,400.00	\$120.00	\$283,200.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEACOCK CHANNEL (SUNNYMEAD MDP LINE B) STAGES 3 AND 4

Project Number: 4-0-0011-03

Bid Open Date: 7/12/2017 Page 15 of 15



			(CJW CONSTRUCTION, INC) .	MYERS AND SONS CON	ISTRUCTION, LP	GRANITE CONSTRUCTION	ON COMPANY
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
51	ROCK SLOPE PROTECTION FABRIC	S.Y.	110	\$2.00	\$220.00	\$15.00	\$1,650.00	\$10.00	\$1,100.00
52	DUST ABATEMENT	L.S.	1	\$40,000.00	\$40,000.00	\$530,000.00	\$530,000.00	\$50,000.00	\$50,000.00
53	HYDROSEEDING	ACRE	2	\$2,000.00	\$4,000.00	\$1,800.00	\$3,600.00	\$2,700.00	\$5,400.00
54	STORMWATER AND NON-	L.S.	1	\$40,000.00	\$40,000.00	\$160,000.00	\$160,000.00	\$50,000.00	\$50,000.00
55	STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR	L.S.	1	\$60,000.00	\$60,000.00	\$115,000.00	\$115,000.00	\$20,000.00	\$20,000.00
56	DEWATERING GROUNDWATER INVESTIGATION	EACH	1	\$6,000.00	\$6,000.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00
57	GROUNDWATER TESTING	EACH	1	\$4,000.00	\$4,000.00	\$25,000.00	\$25,000.00	\$2,000.00	\$2,000.00
					\$17,958,524.00		\$22,276,692.00		\$23,951,410.00